ltem| Sketch number | Description Q-ty
A |TYW41.020.000 | Winch mounting plate | 1
B |TYW21.020.000 | Right Bracket |
C [TYW21.020.000L| Left Bracket |
D [TYW21.000.001 | Right Connect |
E |TYW21.000.001l Left Connect |
F [TYW21.000.006 | Left Adapter |
G [TYW21.000.007 | Right Adapter |
H |TYW21.000.004 |Connect Electric box X9| 1
| [TYW21.000.005 | Template |
14 | 6008 | Spring Washer 10 DIN 127 8
13 | 6009 [ Spring Washer 6 DIN 127 2
12 | 6006 | Washer 12x27 DIN 125 8
11 | 6023 | Washer 10x21 DIN 125 8
10 | 6018 | Washer 6x16 DIN 125 3
9 | 3001 [Hex nutnylock M12x1.75DIN 985 4
8 | 3006 |Hex nutnylockMé DIN 985 2
7 1015 [Hex Bolt M12x1.75x140 DIN 931 2
6 | 1004 |Hex Bolt M12x1.75x40 DIN 933| 4
5 1010 | Hex Bolt M10x1.5x30 DIN 933 | 4
ket h rew
4 | 1029 | o e e BN o1 2
3 1022 Hex Bolt M10x1.25x40 DIN 961| 4
2 | 1052 | Hex Bolt Méx30 DIN 933 2
] 1104 Hex Bolt Méx20 DIN 933 2
[tem | Number Description Q-ty
NAME SIGN. DATE Drawing number L
-~ p— 50812 TYW21.000.000 Product Description
DWN. Charnay 17.11.05 Vehicle Manufacturer Toyota

CHKD.

David

. CONFIRM
Confidential

Dani

All righks in and to this document are property of ASFIR Ltd.and reserved to it.
This document is forwarded to the recipient under the condition of and subject
to the obligation of the recipient to keep the confidentiality of its contents.
Copying transfer of distribution of this document or its contents and the use

of it not for the purpose intended-are strictly forbidden.

ASFIR LTD.

Drawing description

WINCH MOUNT PLATE

Vehicle Model

Land Cruiser 100

Vehicle Version

5 door

Year of Production 2003 - 2006
Catalogue number Gear Shift Automatic
558020 Motor Model Diesel

Sheet | Sheets 1

Transmission

4x4




	Sheet1
	Drawing View1


